
2024 DISCOVER BIG TEN FOOTBALL CHAMPIONSHIP GAME 
TIEBREAKER SCENARIOS 

 
Current Standings 
Oregon  8-0 
Indiana  7-0 
Ohio State 6-1 
Penn State 6-1 
 
Scenario #1 
Oregon and Indiana finish 9-0 
Penn State finishes 8-1 
Ohio State finishes 7-2 
 
OUTCOME: Indiana and Oregon earn berths in champ game with No. 1 and No. 2 designations 

determined following final game of the season based on highest cumulative conference 
winning percentage of all conference opponents. 

 
Scenario #2 
Oregon finishes 9-0 
Indiana and Penn State finish 8-1 (both lost to OSU) 
Ohio State finishes 7-2 (losses to ORE and MICH) 
 
OUTCOME: Oregon earns outright berth as No. 1 seed. The No. 2 seed will be determined by highest 

cumulative conference winning percentage of all conference opponents at the end of the 
season for IND and PSU. 

 
Scenario #3 
Oregon finishes 9-0 
Indiana and Penn State finish 8-1 (PUR def. IND, OSU def. PSU) 
Ohio State finishes 7-2 (losses to ORE and IND) 
 
OUTCOME: Oregon earns outright berth as No. 1 seed. Indiana earns berth as No. 2 seed due to win vs. 

common opponent with Penn State (IND def. OSU, OSU def. PSU) 
 
Scenario #4 
Oregon finishes 9-0 
Indiana, Ohio State and Penn State finish 8-1 (OSU def. IND, ORE def. OSU, OSU def. PSU) 
 
OUTCOME: Oregon earns outright berth as No. 1 seed. Ohio State earns berth as No. 2 seed due to 

head-to-head wins vs. both Indiana and Penn State. 
 
Scenario #5 
Indiana finishes 9-0 
Oregon and Penn State finish 8-1 (WASH def. ORE, OSU def. PSU) 
Ohio State finishes 7-2 (losses to IND and ORE) 
 
OUTCOME: Indiana earns outright berth as No. 1 seed. Oregon earns berth as No. 2 seed due to win vs. 

common opponent ranked highest in standings (OSU). 
 



Scenario #6 
Ohio State, Oregon and Penn State finish 8-1 (ORE def. OSU, WASH def. ORE, OSU def. PSU) 
Indiana finishes 7-2 (losses to OSU and PUR) 
 
OUTCOME: Ohio State earns first berth due to highest cumulative conference winning percentage of all 

conference opponents. Oregon earns second berth due to win vs. common opponent with 
Penn State (OSU; ORE def. OSU, OSU def. PSU). Oregon would be No. 1 seed and Ohio State 
would be No. 2 seed due to head-to-head result. 

 
Scenario #7 
Indiana, Oregon and Penn State finish 8-1 (PUR def. IND, WASH def. ORE, OSU def. PSU) 
Ohio State finishes 7-2 (losses to ORE and IND) 
 
OUTCOME: Indiana and Oregon earn berths due to win vs. common opponent ranked highest in 

standings (OSU; IND and ORE def. OSU, OSU def. PSU). Indiana would be No. 1 seed and 
Oregon would be No. 2 seed (of common opponents that IND and ORE lost to, WASH 
ranked higher than PUR in conference standings; IND def. WASH and WASH def. ORE). 

 
Scenario #8 
Indiana, Ohio State and Oregon finish 8-1 (OSU def. IND, ORE def. OSU, WASH def. ORE) 
Penn State finishes 7-2 (losses to OSU and either MINN/MD) 
 
OUTCOME: Ohio State earns first berth due to highest cumulative conference winning percentage of all 

conference opponents. Oregon earns second berth due to win vs. common opponent with 
Indiana (OSU; ORE def. OSU, OSU def. IND). Oregon would be No. 1 seed and Ohio State 
would be No. 2 seed due to head-to-head result. 

 
Scenario #9 
Indiana, Ohio State, Oregon and Penn State finish 8-1 (OSU def. IND; ORE def. OSU; ORE lost to WASH; 
OSU def. PSU) 
 
OUTCOME: Ohio State earns first berth due to highest cumulative conference winning percentage of all 

conference opponents. Oregon earns second berth due to win vs. common opponent 
ranked highest in standings (OSU; ORE def. OSU, OSU def. PSU). Oregon would be No. 1 
seed and Ohio State would be No. 2 seed due to head-to-head result. 

 
Scenario #10 
Oregon finishes 9-0 or 8-1 
Penn State finishes 8-1 (lost to OSU) 
Indiana and Ohio State finish 7-2 (IND lost to OSU and PUR; OSU lost to ORE and MICH) 
 
OUTCOME: Oregon and Penn State earn berths into champ game. Oregon earns No. 1 seed due to win 

vs. common opponent ranked highest in conference standings (OSU; ORE def. OSU; OSU 
def. PSU) 


